
Introduction to Computer Science
Repeated Second Midterm Test, 5/8/2017

1. In a graph on 99 vertices two vertices have degree 3, and the degree of the other
vertices is 4. Show that the graph contains an odd cycle.

2. We delete the edges of two vertex-disjoint cycles on 3 vertices from a complete graph
on 8 vertices. Determine the chromatic number of the graph obtained.

3. Determine whether the following graph is an interval graph or not.

Bevezetés a számításelméletbe II.
pótzárthelyi

MÁSODIK zh pótlása, 2017.05.08.

1. Egy 99 csúcsú egyszer¶ gráfban két csúcs foka 3, a többi csúcs foka
4. Mutassuk meg, hogy a gráfnak van páratlan köre.

2. Egy 8 csúcsú teljes gráfból töröljük két pontdiszjunkt 3 csúcsú kör
éleit. Határozzuk meg a kapott gráf kromatikus számát.

3. Az 5 csúcsú teljes gráf egy élét megduplázzuk (vagyis az élet két
párhuzamos éllel helyettesítjük). Határozzuk meg a kapott gráf élkro-
matikus számát.

4. Döntsük el, hogy az alábbi gráf intervallumgráf-e.
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5. Adjunk meg egy minimális lefogó ponthalmazt az alábbi gráfban.
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6*. 2035-ben a VIK-es gólyabálon 601 lány és 601 �ú vesz részt, min-
denkinek legalább 300 ellenkez® nem¶ ismer®se van (az ismeretségek
kölcsönösek). Biztosan össze lehet-e állítani 601 olyan �ú-lány párt, ahol
a párok tagjai ismer®sök?

Minden feladat 10 pontot ér, beleértve a csillagos feladatot is. A csilla-

gos feladatért kapott pontok ugyanúgy beszámítanak a zh pontszámába,

mint a többi feladatért kapott pontok. Részben helyes vagy nem teljes

megoldásokért részpontszám adható, indoklás nélküli eredményközlésért

nem jár pont. A dolgozatra mindenki írja rá a nevét, a Neptun-kódját és

a gyakorlatvezet®jének a nevét. Jó munkát!

4. We double one edge of the complete graph on 5 vertices (i.e. we substitute one
edge by two parallel edges). Determine the edge-chromatic number of the graph
obtained.

5. Determine a minimum covering set of vertices in the graph below.
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6. In a ball there are 601 girls and 601 boys, and everybody knows at least 300 persons
of the opposite sex (acquaintances are mutual). Can we make 601 boy-girl couples
in which the persons know each other for sure?

Total work time: 90 min.
The full solution of each problem (including explanations) is worth 10 points. Show all your
work! Results without proper justification or work shown deserve no credit.
Notes and calculators (and similar devices) cannot be used.
Grading: 0-23 points: 1, 24-32 points: 2, 33-41 points: 3, 42-50 points: 4, 51-60 points: 5.


